H & 0l & AHS B Ml A

20233 = =0llah LB Ald 2te |t

SA A2t
M HAPAZH|(AlZ2e|Dt)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A& 2te| ot 9,470,158 6,547,971 2,922,187
= 26,000
Al 9,444,158
AHH2LZHI(AL2e|t) 45,660 45,623 37
Jl=23sl 45,660 45,623 37
JI23Hl 45,660 45,623 37
201 =3 20,475 20,438 37
01 At22t2l] 17,800 17,764 36
OJIZ2 MRES 30,0002+ 18 540
OYRFa A 20,000+52 100
OARd =378l 60,0002 * 12 720
Ol =&l 50,000& * 128 600
U2 #s= 10,0003 +52+12& 600
Odz=J| gz 38,000% 122 456
OJlE ge=d 3¢l
8,000 x14Z+ 112 x 122 14,784
02 S3=gHl 2,675 2,674 1
OAldE BaXE |X2el] 2,675
— X EHIH| 592,000 592
— 254l 1,8032*1, 1552 & 2,083
202 04l 19,385 19,385
01 =LHA LI 17,345 17,345
OJlE2s8 =L 16, 145,000& 16,145
OJ1238 2UHHI(ZLE)
1,200,000 1,200
02 XN 2,040 2,040 0
283 A0 170,000 x1&» 122 2,040
203 HR=H] 4,600 4,600
03 A=A PR 1,000 1,000
OAIH=NHRFAY| 1,000,000 1,000
M A2 LIRFAI 3,600 3,600 0
ORA2IYRETY)
300,000& x 1042+ 123 3,600
204 MPo=HAH| 1,200 1,200
01 MG HI=HAHH| 1,200 1,200
O 100,000& x 1= 123 1,200
FOEIAIEZE 2l 1,937,148 1,885,318 51,830
H=LIE dH 24 1,820,018 1,770,881 49,137
HRLUEIME X2t 1,820,018 1,770,881 49,137
201 ger=3| 556, 141 486,141 70,000
01 At 2|l 6.210 6.210 0
Oget=EH| 3,330




2A:

Al 2| ot

I FOIEHOIAIEE 22|
&elr HRLIE dE 29 (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
—S3ZHIE 3+
50,000& x35*63] 900
—SUI| HIIBA 242
125,000& *4CH* 13 500
— A 2AHA 200,000 *23| 400
—SZAIJIA OHEED|IZEAL =2
400,000 *x13] 400
—ZAEIANM Ot ESHA =5
200,000&*35 600
—HRLIEIMEH 29 AIRSE 72
530,000 14 530
OZ &l 2,880
—HFRLIEIMEH 29 2|
8,000 x3H* 10!« 128 2,880
02 Bs24H| 549,931 479,931 70,000
O332 508,551
&2 JI2=
8,320 & *560KIWH* 122 55,911
MRS AIE= 245,000,000 245,000
—ZADIA 23 160,840
- A WHHE M 82
70,000& x 128 840
AE= 160,000, 000& 160,000
— Ao EER2 3,000 *1,300m x 12& 46,800
OAlE&H|S XY 31,780
~HAZYT HAR
1,500,000 & 23] 3,000
—HFLIEIMAEH SAEY HFD| |8
1,359%1%33 4 *43| 180
—SN23 100,000& x 128 1,200
—HZ2 L FHALE A2 4|
27,400,000 x 14! 27,400
OsdI| KA 249
200,000 *4CH = 12& 9,600
202 04b| 1,200 1,200
01 2LH Y| 1,200 1,200
OHRLIEINIH 22|29 gRFA
100,000& *x 128 1,200
206 =8| 26,400 26,400
01 XHZHI 26,400 26,400
O&ED|, SMAE 842 7L
700,000& +12& 8,400
Oxga& 4Z722 18,000, 000& 18,000
307 21Z2H0| ™ 43,000 26,500 16,500
05 OIZtR|EZ 43,000 26,500 16,500




2A:

Al 2| ot

BH: FoIEOAEE 22l
Rl HRUE dY 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAgAE ZeEuEd 89
3,000,0002!%23] 6.000
OARLIEIME Y YAAS PS8
3,000,000 %52 15,000
OAHRLIEIHE FUANF Y SH(18]/34)
22,000,000 *13] 22,000
401 Al HIZL 2018 603,277 613,340 210,063
01 Al&H| 539,500 609,500 10,000
OAHRLIEIHE AEZE S22+ 100,000
—J13, e 30,000,002 30,000
—®I|, Agra) 30,000,002 30,000
—49% =59 Ay 20,000, 0002 20,000
~ZZ4 A U BAEY
20,000,000& 20,000
OAHFLIEIMH U=HE 2+ =8 499,500
—2HEA O WM & HIE 2=
250,000,000 250,000
—2RUIH 2(RUERS, HES)
185,000,000 185,000
—U=8ss =4 2=+
70,0002 %1,350m* 94,500
03 AlESTHYI 3,777 3,840 263
OAl& S THYI 599,500, 000& *0.63% 3,777
402 212 X201 & 590,000 570,000 20,000
03 2IZHRAETALHHI 590,000 570,000 20,000
OAHRLIEIHEH AlE2Setee] 84(MLs
=Al2el, a4, Z 590,000,000 530,000
TS JEl 29 117,130 114,437 2,693
TSeh JLU A2 117,130 114,437 2,693
201 eer23y| 25,824 25,824 0
01 AtR2t2|HI 13,068 13,068 0
odZl s2& 28 8 7¢ 1,776
—22F 7Y 50,0002 122 600
—MYDISE 2L(1002)
2,600 x30&* 122 936
—3t&X 7Y 20,0003 x 122 240
OHZU =4 4A2F 728 2,976
E 3EA 42,0003 x202 A 840
—HI0IH HEEtS 40,0003 302} A 1,200
—MYDISF(1004)
2,600 %308+ 122 936
OHYU EE22 AIRES 7¥
396,000& 3%
odZU s2& 7| 2l
20,0003 =20 =122 480




2A:

Al 2| ot

M FREHGAIEE 22l
ol AsA YW 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXU =t&4 it 22yl
40,0002+ 122 480
OPSNFYY LX +g
60,0002 *116& 6,960
02 s3=gHl 12,756 12,756 0
OFRSUHLN S8= 12,756
M3 863,000& 122 10,356
—Stes 200,000& 12 2,400
202 048l 1,200 1,200
01 201 1,200 1,200
OHYY Bol2Y ALEZ
100,000& «12& 1,200
206 M=Hl 4,110 4,110
01 MHZH| 4,110 4,110
OX MCDHE & HIZE MAM 2L 2,310
— &0 JHE R 1,135,000 1,135
—HEE MAM 1,250 *300S Xl 375
— & 400,000 22 800
OJIA - &) 248 NHH7Y
150,000& «12& 1,800
307 elztol & 29,808 27,808 2,000
05 21t =S 29,808 27,808 2,000
Ol Fe13Hl =9 99,0002 * 12 1,188
ORYL 24HsAL B2l 2
385,000& * 122 4,620
odgH 4 89 24,000,000 24,000
401 Al HIZL 01| 56,188 55,49% 693
01 Al&H| 55,000 55,000 0
O7Se JYU AlE= RXl2el 55,000
—x¥4 - @EPE L BT
20,000,002 20,000
—AE [T P Y EM
20,000,000 20,000
—22 S Uu AaE sTB
15,000,000& 15,000
03 AIZ2THYI 1,188 495 693
OAIE 2 0HbI 1,188,000 1,188
FOIHNAIEE 2t 4,533,306 3,483,065 1,050,241
= 26,000
Al 4,507,306
FOIHE & HOAlM 4,533,306 3,483,065 1,060,241
= 26,000
Al 4,507,306
2SS 22ts FAl2 2,862,845 2,498,986 363,859




A Ald2te| Dt
Hm: FOIOIEAILE 22
2l FRIord g HOJAlE (EEEE))
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
201 Let2| 1,439,441 1,432,358 7,083
01 Ar2eltl 7,320 250 7,070
O&JIotM2e| Xt galdl & =]
250,000 250
OJ2Eets 29 =2l
8,0003 x4H x5 x 123 1,920
OE+8 ARBE ¥ 5,150
—2+2 Z4 I 12,0002 *20074 2,400
—ZHHIOIE 2,500 50074 1,250
—J|Et 224 Xt 1,500,000& 1,500
02 23244l 1,432,121 1,432,108 13
Otz - 2ot HES M3 1,036,944
—JI=2Q3tANERS
86,412,000&+12& 1,036,944
OJI2s e 2A & Mo SEe3
1,100,000 = 1CH*12& 13,200
Ol XIZES 41t HH20 [HE ZHIFX &
B3 372,668,000& 372,668
OJI28 RANES Ut XSXHA
100,000 *1& 100
OIS RAES U S22
160,000 *1& 160
OJI2S RANES U RS
1,803&*2,8002|H 5,049
OJt2s RANES XUE SX2eltl
4,000,000 4,000
202 Ot 1,200 1,200
01 =LHO4b] 1,200 1,200
ONES ¥ 2SS Y2 =X
100,000« 12& 1,200
206 M=4| 47,400 47,400
01 M=l 47,400 47,400
Otz - 2ot - HHE &S 2rEI| P2 (LED)
50,0002 *100JH+3& 15,000
Oz - 2ot HES I 7 (LED)
100,000 *40JH 4 & 16,000
ORotS I 7Y
160,000 *20JH 2 & 6,400
Ootzs g 30| ¢
1,000,000& *30H+3& 9,000
OJt2 - 20 - HEs |2l N7
500,000 x2& 1,000
307 gI2tol ™ 6,168 4,392 1,776
05 QIZtRIEr S 6,168 4,392 1,776
OZsiw &I|&H| erEate| (HHEA
180, 6003 *110%* 123 2,384




SA A2t
M FoloEAlEE B2l
Chel: FOIOHA 9 HOAIL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OditHE &J14H| erd2ie] HeEEs
162, 4002 *110%+ 122 2,144
OXsHE &4 atdae| HAES
124, 2003 x110%+ 122 1,640
401 AIEHIZ SR OHYI 1,368,636 1,013,636 365,000
01 Al&HI 1,365,000 1,010,000 365,000
Otz - 225 |AZ2I(HIHH )
200,000,000 200,000
O=RNEBSH (FAE-S0Is 2) II2S &
XIS At 75,000,000& 75,000
ONEZ(FAIZFM~EGSH) 2SS &X
SA 100,000,000 100,000
OSts 225 EXSA
300,000,000 300,000
O4ll A= 2134 =8 2oS ZXISA
100,000,000 100,000
Otz 2N 2SS HESA
90,000,000 90,000
Ok=itzs & 288 uH
290,000,000 290,000
Otz R2HYEH =8 E3At
100,000,000 100,000
OALIIZ2S WHMSBA 90,000,000& 90,000
OL= IH2SF TMSA
20,000,000 20,000
03 Al 2CHYI 3,636 3,636 0
OAIE20HbI 3,636,000& 3,636
SHES FAlZc 160,500 30,500 130,000
206 M=l 10,500 10,500 0
01 M=4l 10,500 10,500 0
O33& etEI| 7 (LED)
50,000 *10JH*5 2,500
O33S 8Z FY(LeD)
100,000 10053 5,000
OZAS Yy BHI| 2
1,000,000& * 101 =2& 2,000
O32& sAl2cl A2
1,000,000 * 1812 1,000
401 AIEHIZ R 0HYI 150,000 20,000 130,000
01 Al&H| 150,000 20,000 130,000
O3S KAZ2l(eIHH )
50,000,000 50,000
OUISXIT M2 ZAS SXIZA
100,000,000 100,000
=83 P FHAXNY =S EXSA 26,000 0 26,000
== 26,000
401 Al HIZ 2018 26,000 0 26,000




2A:
X XH -
o e

=aak

NERE T
DIOIFAILZ 22
BIOKN 2 BOIAlL

=
s
=
T

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 26,000
01 AlZ2H| 26,000 0 26,000
O=&s 2d HAXNSG 2SS XIS AM
26,000,000& 26,000
== 26,000
AMNESZHX] FX2tel 44,000 49,000 /5,000
206 MH=HI 9,000 9,000 0
01 M=4l 9,000 9,000 0
OAtge2EX SII7 7
2,000, 000& «2J =22 8,000
OAMEE2EX SN2 7L
1,000,000& *1JH*1E 1,000
307 elztol & 25,000 30,000 25,000
05 2I2tRIE S 25,000 30,000 /5,000
Od8ln MESZE 22| IS4
5,000,000 5,000
OBt AtES2EHR| 2l EE
5,000,000& 5,000
OH3 1w AHEEZ2HX 22| ASEHA
5,000,000& 5,000
Ossiila2-w A2 HA 22| ?ES
B 5,000,000& 5,000
O=slu AESZ2HEI 2l EEH
5,000,000 5,000
401 AlEHIZL SO 10,000 10,000
01 Al&H| 10,000 10,000
OAtEEZ ZXIS dII8d8 Al & =¢l
10,000,000 10,000
A&EE XD ES RA2el 330,727 163,197 177,530
201 er=2 3| 44,834 43,956 878
01 AtR2t2|HI 2,554 2,026 528
ONESINZ4 B2l g22n Sz
8,000 18 =247 1,976
ONESRIINES =&l FI1Z AH500kw)
577,600& %12 578
2 5234l 42,280 41,930 350
ONERINES & BZ MIIes00IER
3) 2,000,000« 12& 24,000
ONMERINES & HE MILS(MER
3) 550,000& * 122 6,600
ONERINES CIEY ABSM AIBE
250,000 122 3,000
ONFRANES 284 AaYs AR
15,0003 x 122 180
OPLC & ==Hi&&Hl RAIE+
5,000,000& 5,000




SA A2t
HMEH: ZOIOHM Al A 22|
ool Falord 2 quc’I/\I’\* (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3¢ =38 BIH FAE+
1,000,000 1,000
OZZHES S0|AE R+
1,000,000 1,000
OAZID| 2 ABUN RXL4
500,000 *30H A 1,500
202 04l 900 900
01 2LHoIH 900 900
OMERIEs 2
100,000 0 900
206 MH=H| 18,750 18,750
01 M=4l 18,750 18,750
ONMERANES TtUALA(204L) 7L
300,000& * 157K 4,500
ONERINES RA2A2E (+3)84 2
& 4,500,000 4,500
ONMERIIZ2e RA2elE 1YsAh S
AW e 50,0008 x205+23] 2,000
ONESINES RA2ACE LD =855 +
= 750,000 *5H 3,750
OMESINES SXBRIS S8 7Y
1,000,000 *37HK 3,000
ONELRIDNEs RA2ACE 225 Y
1,000,000& 1,000
307 @I2t01 & 5,918 5,844 74
05 eit?(& = 5,918 5,844 74
OMERIDNEs S AEES
100,000& +x9Z 900
ONESIDNEs HI|etdze| (e 89
418,100+ 122 5,018
401 AlEHIZ 201 260,325 83,747 176,578
01 A28l 259,000 83,000 176,000
ONERIIZ4 24 HE X
4,500,000 23] 9,000
OMERINES RAE SAH 60,000
—=3T8X 2 &S JIHEH RANEx
30,000,000& 30,000
I ENENT T e N ERE YRS
10,000,000 10,000
—+=55 ¥ EFMUEX(SLLH)E &
g8l |2+ 20,000,000 20,000
OMESRXDNEs X2 A
3,000,000 #23] 6,000
ONELRAINE atSE= ol ZuHM 6Gset
54,000,000 54,000
ONAELRRDIZS OIBIE HAEE Zetdl0lM
IZHE Wil 14 130,000,000 130,000




SA A2t
M FRUKEAIEE 2el
chel Faord 2 EojAlE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 1,325 747 578
OAIE20HbI 184,000,000 *0.72% 1,325
OtS=3X SSE+ 7A2c 803,122 213,080 530,042
201 er23y| 122,092 118,528 3,564
01 AtR2t2|HI 78,176 77,976 200
OISR St 22l gexd I
af 8,000 »1H»247& 1,976
OltS7EX SdEs EXFA A2
76,000,002 76,000
ORI BN 248
50,000 *40H A 200
02 S3=gHl 43,916 40,552 3,364
OllsREX 842+ MIIes3001=ER23)
2,300,000~ 128 27,600
OISRV S22+ HIIQ3(AHE3)
1,100,000& «12& 13,200
OltsREA s42+ AHY HS3ld A
=1=d 250,000& = 128 3,000
Olts7EX s9&Es ril&dcls BEE &
S 1,920 +60C| &4 116
202 04| 900 900
01 =LHO LI 900 900
Olts7EX sS4z g2
100,000 «0= 900
206 M=l 20,600 30,000 29,400
01 MZH| 20,600 30,000 9,400
Olts7EX S4Es RAACS 223
- 2,000,000 2,000
Olts7EX s9E+ RA2ACIE D =3
s 7 900, 000& * 107K 9,000
OltsREX 842+ 7A2AcES SEE
& 1,200,000 *8H 9,600
307 el2to| & 7,530 7,152 378
05 212+ =S 7,530 7,152 378
Olts7EX S4E+ FUEH /E8S9
100,000 ~12& 1,200
OltSREX S92+ Mojtd2A| HAE
S 527,500& 122 6,330
401 Al HIZL 01| 652,000 52,000 600,000
01 Al&HI 652,000 52,000 600,000
ODISSAN Sos 2Ha HEE
4,500,000 22 9,000
OS2+ 4Hl KFAE% SA 43,000
—=S8Z & 28 S JIHEH =2+
5,000,000+42] 20,000




SA A2t
M FoloEAlEE B2l
CI9l: FQIOHN o HOlAlM (ol m2)
SA - B BRA(SH) - HRA - of v e HIDE2
—+=3S ¥ SUEX S &8 =L
& 5,000,000%33] 15,000
—BEA R0 SEe
8,000,000 8,000
Olts7EA sS4 stE2+ &7
600,000,000 600,000
JHAIEAE RX2e 306,112 138,302 167,810
201 er23 | 69,000 62,368 6,632
2 35234l 69,000 62,368 6,632
ORXHCel MIIR= 900,000 * 122 10,800
OME HE 082 dIIRs
120,000~ 128 1,440
OAlEEE 82 &JIes
1,000,0003 * 12 204 2~ 24,000
ORADHCel QI 3 S
100,000%*12% 1,200
OdfleEsl &K= 750,000 x 12 9,000
OCIXIAIEHel & HEHH HIIRS
600,000 * 122 7,200
O%iclet2(Z222100(I3) I3
100,000 122 +2JH &~ 2,400
O"dicl =HNHEHNEZ, MEE=1 &)
s 1,000,0002 122 12,000
ONEE+1, diLESN IHY dE3H
ANEZ 80,000& * 122 960
206 M=l 6,000 8,500 22,500
01 MHZH| 6,000 8,500 2,500
OZAXEE 2FI| 2(LED)
100,000 =154 1,500
OZ2AXEE & 2(LED)
150,000 *10H 1,500
OZ&xgE dyer 82| 7Y
1,000,000 *1H 1,000
OZ&xd FA2cE 225 ¢
2,000,000& 2,000
307 gl2to| & 960 840 120
05 212+ = 960 840 120
OS] 2B /&S
80,000& * 122 960
401 Al HIZL S 0HYI 230,152 66,594 163,558
01 Al&HI 229,000 66,000 163,000
OS] H2XBAE 25 SA
7,000,000& 7,000
OLEL FREBAL B4 BA
7,000,000 7,000
OANEEE ZES(ZL,0Y) 25 S
4,500,000 *20H A 9,000




SA: Al
M FOICHMAILE 22|
chel Faord 2 EojAlE (Che 2l
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OANEEE ZES(ZY, L) EHIDI
4,500,000 204 2 9,000
OS2l 2ANBHER BREAAIL LED
Y WX SAH 8,000,000& 8,000
ONEES ZB2EXZHAL(ED =55, LD 2t
olbh) B4 ZA 6.000,0002 6.000
ONBLBOFRY HREHAL B4 DA
7,000,000& 7,000
OSXHCHel BAXZTAE B SA
9,000,000& 9,000
O=21J| HIOtHel ZEGAIE 2B A
7,000,000 7,000
OANEERE T2 E3At
160,000,000& 160,000
03 AlE 2 CHYI 1,152 54 558
OAE20b| 160,000,000 *0.72% 1,152
o & THe ol 2,954,044 1,133,965 1,820,079
MoHE A= 2t 2,954,044 1,133,965 1,820,079
=B I & RX2e 2,954,044 1,133,965 1,820,079
101 2124 d| 40,801 38,847 1,954
M IIRINZ2Z2XsEs 40,801 38,847 1,9%4
Otf=8ZZ FXl2te| eld| 40,801
—oI2g 85,2003 111G 62 +/ & 39,363
—MEEZ 39,363,000 * 1% 3%
—ESAZ 39,363,000 *2.65% 1,044
201 LB-2AH| 493,797 500,961 ANT,164
01 AtR2telt] 14,438 22,538 A8,100
O=tl 8,000& 3G +x7x 122 2,016
OFI|otE 22| AT nEL5 Y E3H|
250,000 250
OR4&EHel Ehldxts 2,500,000& 2,500
Oti-E 2 2tE Y| 5,200
—J2HE 600,000 x2JH 2~ 1,200
—HlaHeg 200,000 *2004 4,000
OAEE Pl 2,072
—i+=EZE HHIE 22(23)
8,000 *2007H4 1,600
—Z 2N (PPOLCH) 3,4502 5% 52
—LEDE & A HAHS 70,000 =34 210
—2A&X] 5,000 *30J1 150
— XS4 3,000 *200H 60
Otf=8Z& EI|IZA =2 2,400
—XE &MI|&H] HIIEAHZ LT 1
Ha) =28 1,400,000& 1,400




2A:

Al 2| ot

S Mol & T ol
oelr THOH RIS Ald=E 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—20I12E ZIIZAHSO0Rl 2H2) ===
250,000 *30H A 750
— 2110101 HII124AHERIZD])
250,000& 250
02 s3=gHl 479,359 478,423 936
Oti=8Zd HIIAER 400,000
— AT -EIH2 18 400,000
JlE2es 100,000,000 100,000
- AERs 300,000,000 300,000
Otfi=8Bod &I Az
1,858 * 18| E{ +8IH A+ 12 3.211
Oti=BZ% ALLE2S
12,0003 40 A+ 123 576
O+BOR HHUH SH23
66,0002+ 122 792
Otf=8od ICV 336 AHEZ
2,025,000 128 24,300
O+HIE A4z
10,0003 #40H A+ 122 480
OAlE2 &= X 50,000
—tiB8EE MY Al =87
] 10,000,000& 10,000
—i==E2d A HMOoEH =&F7 Ay
10,000,000 10,000
—HIABIA 2tE WY AMSX
10,000,000 10,000
—HSBEE 2AEL9 SHSRX)
10,000,000& 10,000
—HIAEOR ME AF00IE SHRX
10,000,000& 10,000
202 04l 1,200 1,200
01 =LHOHI 1,200 1,200
Oti=8u2d AldE A2 =LY
100,000 * 12 1,200
206 M=l 10,150 11,050 A900
01 M= HI 10,150 11,050 A900
Otf=Z8od 242 NH7Y 4,750
—JIA - HIINEE ZHIE T L
250,0003 1994 A 4,750
Ot === 2 (60HA) HIaEAI| SEX 7 5,400
—2 &I =SHX 2004 300,000 = 187K 5,400
307 212+01& 375,8%6 305,988 69,908
05 2ItRIE = 375,8%6 305,988 69,908
Otfi=8=d MIjgtd 2| Xt 8 A2
Bl 305,8%
—s-gE=d 5,150,840 x 12& 61,811




2A:

Al 2| ot

A2 THoH & TH&H ot
oR: Mol/E Ald= 2t (CHol: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—NEHEcz BEE
5,150,840& = 12& 61,811
—ZIEZE 5,472,500& =128 65,670
—CEEDLX 5,150,840& = 12& 61,811
—TAAE 283,403 =128 3,462
—&AZ0| 283,420 <128 3,462
—dAEA2 283,470+ 123 3,402
—&Aa30I12 283,4703* 128 3,402
—Ejoge 198,660 * 12& 2,384
—EHQIZHLY 1,009,470& *12& 12,114
—Eiel=0| 700,920 =123 8,412
—dE3= 341,220+ 123 4,095
— B S 288,4203 128 3,462
— 2ot (M) 134,310 x12& 1,612
—S0HAL) 154,550 x 123 1,855
—Z YA (M) 134,310&*12& 1,612
—CHeal& 459,910& * 12& 5,519
OHM2E ANEZ(REET 2 5IHA) &I|otA
B2 a2 (13)/80)
10,000,000 & *23] 20,000
OM2E ANES(RATRQ 5HA) HUON
24 249 50,000,000& 50,000
401 A& B2 20HY| 2,032,200 271,419 1,760,781
01 AlEHI 2,025,000 270,000 1,755,000
O=0li+8Ed =2 ¥ BZWH
1,500,000,000& 1,500,000
OXMEA2 B IE ZH2lA MDD W
] 300,000,002 300,000
OTfoliolgS e i8I H HEN 2
2el SXE2=(19904) 200,000
—DAZH ¥ +TEZ SXE>
30,000,000 30,000
—&J1a MC HE RXIZ
30,000,000& 30,000
—SZ oLt 2 PLC HOE RXEx
30,000,000 30,000
—MZ&D| ANd=E RAES
30,000,000 30,000
—CCIV Al E RXE=> 20,000,000 20,000
—2otS ANEE RANE=
15,000,000 15,000
—2AZAIN T2 KL
30,000,000& 30,000
—g&= Ml ¥ S#3E|
15,000,000 15,000




A Ald2te| Dt
A2 THoH & TH&H ot
ol THOHRIE AlEE el (Shol: % 2)
> ~ q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OXAZ0| tH+EEX MI|A HEDI| WXl
25,000,000 25,000
7,200 1,419 5,781

03 Al =2 0HHI

Otl=8L% |2t A8

2,000,000,000& +0.36%

7,200




